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1. Which one of the following statoments about|3, Which of the following statements is/are

‘Nilgird', ‘Surat’ and ‘Vaghsheer' is correct ? nerach'T
(a) 'These are Tiger Reserves in the state of 1. The Government of India has
Gujarat, discontinued the Pradhan Mantri Fasal
Bima Yaojana.

(b)  These are combatants commissioned by
2,  The Government of India has approved

the Indian Navy.
the continuation of Restructured
(€}  These are Biodiversity parks maintained Weather Based Crop Insurance Scheme.
by the Indian Army. Select the answer using the code given below :
(d) These are Tiger Reserves maintained by (a) 1only
the Indian Navy. (b) 2only

(c} Both1land2

2. Which of the following surveys are being (d) Neither 1 nor 2

conducted by the Ministry of Statistics and
Programme Implementation, Government of |, e 1 List-1 with List-Il and select the

India ? answer using the code given below the Lists :
1.  Survey on Social Consumption — Health List-I List-IT
(Organization) (Year of
2. Comprehensive Modular Survey - Formation)
Telecom and ICT skills A. European Union 1. 1994
sers B. Asia-Pacific Economic 2. 19587
3.  Periodic Labour Force Survey b o)

C. Association of Southeast 3. 1989

4. Annual Survey on Unincorporated
Asian Nations (ASEAN)

Enterprises D. FreeTrade Areaofthe 4. 1993
_ Americas (FTAA)
Select the answer using the code given below : Code 1
(@ 1,2,3and4 A B C D
(a) 3 2 1 4

1,2and 3
(b) and 3 only 3 % a4 W 1
(¢) 3and4only i 4 3 2 1
(d 1and 2 only () 4 3 1 3

ANFB-S-GKL (3-8)
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a.

ANFB-5-GKL

The book “The Art of War’ was written by :
(a}  Niccolo Machiavelli

(b}  Thucydides
()  Thomas Hobbes

(d) J.8 Mill

Which one of the following military operations

was not undertaken by India ?
(a)s Operation Ablaze

(b) Operation Spider's Web
(e} Operation Trident

(d} Operation Bandar

Which of the following statements are correct
about ‘Arnala’, an Anti-Submarine Warfare
Shallow Water Craft 7

1.  Itisindigeneouly designed in India.

2. It is named after the historic Arnala fort
located in Maharashira.

3. It has been built under a Public-Private
Partnership (PPP) of GRSE with

M/s LE&T Shipyard.
Select the answer using the code given below :
{a) 1 and2 only
(b} 2and 3 only

(&  daniisonky

d} 1,2and3

B.

(5-B)

Robert Prevost became the Catholic Pope after
the death of Pope Franeis. Which of the
following statements isfare correct about him ?

1. He will now be known as Leo XV.
2 He beeame the 271" Catholic Pope.

3. He is a dual citizen of the United States

of America and Peru.,

Select the answer using the code given below :

{a) land2
(b) 2and3
(e} 1only
d) 3 only

Which of the statements about the dams on
the Chenab river isfare correct ?

1. Salal dam, Aalal dam and Baglihar
dams are on the Chenab river.

2.  Baglihar dam has a greater height than
Salal dam.

3. Salal dam iz operated by Jammu and
Kashmir
Corporation and Baglihar dam is
operated by WHPC Limited.

Power Development

Select the answer using the code given below :

{a] land2
(b Z2and3
(¢} 2only
(d) 8only

(% Scanned with OKEN Scanner
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10,

11.

Storm Shadow. 18.

3.  BrahMos missiles are built under a joint
venture between India and Russia.

Select the answer ﬁing the code given below :

(a) 1and2only

(b) 2and3only

(" 1,2and3

(d) 3 only

ANFB-S-GKL (7-B)

Which of the following statements about

‘Alcatraz’, which was recently in news, isfare
correct ?

1. It was once a defence fort on Aleatraz
island of America.

2. It was once a prison on Aleatraz island
of America.

3. It was once occupied by a group of native
American students, known as ‘Indians of
all tribes’",

Select the answer using the code given below :

(a) 1and2only
(b) 2 and 3 only
(c) 1,2and3
(d) 1only

Which of the following statements about
India’s military arsenal is/are correct 7

1. HAMMER is a weapon system built for
the Rafale fighter aircraft.

2. SCALP cruise missile is also known as

12,

Recently, ICAR (Indian Council of

Agriculturnl Research) has developed the
world's first genome-edited rice varieties.
Which of the following statements isfare
correct  with respect to the developed

products ?

1.  The genome-edited varieties — DRR Rice
100 (Kamla) and Pusa DST Rice 1 have
been developed by ICAR-IARI, New
Delhi.

2.  DRR Rice 100 (Kamla), based on Samba
Mahsuri, has a shorter duration of

maturity.

Select the answer using the code given below :

(a) 1only

(b) 2 only

(¢} Both 1and2
(d) Neither 1 nor 2

Which one of the following is a good statistic to
evaluate whore an economy stands in the

financial cycle ?

{a} Tax/GDP Ratio
(b)  Fiscal Deficit/GDP Ratio
Household Consumption/GDP Ratio

{e)

@

Crodit/GDP Ratio

(3: Scanned with OKEN Scanner
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17.
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(a) 132
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() 233
(d) 234
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Foremr (complement representation) ¥ 7
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(a) 0101
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| Tt 3 & wim-an wifrre sidier 7878 ?
(a) NOT
(k) OR
(e} AND
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14.  Which , _ ,
of the following pairs of initiatives of| 18+ Which  language uses the symbolic

the Governmen p representation of machine eod eded to
t of India and their ohjeetives program a particular pmmmrezrn:mm

15;’..5_1-& correctly matchod 7 family 7
() Machine Language
1. o
Global Capability ; Reshaping corporate (b)  Assembly Language
Centre (GO landscape (e}  High-Level Language

(d)  All of the above
2. U-WIN Portal : Ease of doing

17.
business across What are the uses of software ports 7
1. Connect client computer to server

states
2. Conneet external devices to computer

3. Identi i : ; -
Select the answer using the code given below - entify different services like email, file

transfer

4, Connecti : .
(a) 1only mr;:; : r;ng peripherals like cameras,

Select the answer USi.I'IE' the code Ei"'-l"Eﬂ below
(b) 2only &) tands

(#) land3
W Dehlredd (el 2and3

d) 2and4

(d) Neither 1 nor 2

18. Assuming the computer is a 4-bit computer,
what result is produced after subtraction

1% Socal  Mobilisation  and  Tnstitution of 3 from 5 using the 2= complement
Development (SM&ID) is one of the major umE“m’“_i““?
f (a) 0101
co .
Lo ’ (b) 10010
(a) Deen Dayal Antyodaya Yojana (e) 1101
{d) 11001

; ioital . _ |
(b) National Urban Digital Mission G e il e

e , operator ?
(e)  Atal Mission for Rejuvenation and
; {a) NOT
Urban Transformation ) OR
(d) Rashtriya Gram Swaraj Abhi o A
triva Lsram ara) 1¥an @ Division

ANFB-S-GKL (9-B)
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20. Which among the following are the purposes of

21.

deploying a Firewall 7

1. Examine each packet nrriving from
Internet

2. Prevent unnuthorised access

3. Block suspicious activity

4. Interconnect telephones

Select the answer using the code given below

(a) 1and2only

(b) 1,3and4
(c) 2and3only
(d) 1,Zand3

Amsterdam-5t. Paul Plateau is located in
which one of the following oceanic regions 7

{a) Arctic Oeean
(b} North Atlantic Ocean
(¢} Southern Indian Ocean

(d} South Pacific Ocean

22. Which one of the following pairs of City and
Lake is not correctly matched ?
{a) Buffalo : Erie
(b)  Detroit :  Superior
(e} Milwaukee : Michigan
{(d) Toronto . Ontario
ANFB-S-GKL

23.

(11-B)

Which of the following statements with
reference to lines of latitudes isfare correct 7

1. The distance between two successive
lntitudes changes slightly from the
equator to the poles,

2. If parallels of latitude are drawn at an
interval of one degree, the total number
of parallels thus drawn, including the
aquator, will be 179,

Select the answer using the code given below :
(a) 1only

(b} 2only

{c) Both1and2

id} Neither 1 nor 2

Arrange the following major elements present
in the Earth's erust, in ascending order, in

weight percentage :

1. Aluminium

2, Caleium
3. Silicon
4, Oxygen

Select the answer using the code given below :

(a) 3,4,1,2
M 4,812
© 21,84
(d) 1,284
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25. Match List-I with Listll and select the[27- Which of the following statements with
answer using lhgmdngi““ below the Lists : reference to Glacial trough is/are correct 7
List:l st 1. Alpine glaciers strip valleys of their soil,
regolith and sediment to form glacial
g:hndfﬂuﬁmj (Tectonic Plate) troughs.
moros :
S o 2. When the sea level is below the floor of a
B. Baffinlsland 2. African Plate Bfﬁ‘-‘_iﬂ trough, the scawater enters as
C. SriLan) E B ik the ice front recedes, creating a fiord.
D. Andaman 4  Indo-Ansirels Select the answer using the code given below -
iy Plate (a) 1only
Code : (b) 2only
A B o & (€) Both1and2
) B el s 2 28. Consider the following statements with
c)y 2 4 1 3 reference to Mid-latitude deciduous forests :
@ 2 1 4 8 1. Midlatitude deciduous forests consist
largely of trees that drop their leaves
during the summer season.
2. Mid-latitude deciduous forests are
Which of the followi T native to eastern North America and
reference to Richter scale isfare correct ? Weskim Burepe:
3.  In Asia, the Mid-latitude deciduous
1. It is the intensity scale of an forests occur as a belt between the
lands to the south.
2.  Richter indicates the amount of energy 4 S el G
: : .. Beech, Hickory are common
released during the earthquake. examples of trees found in Mid-latitude
Select the answer using the code given below : dociduens
Which of the statements given above are
(2}  1enly correct 7
() 2only ) {(a) 1,2and3
(¢) Both1land?2 e
() 1,3and4
{d) Neither 1 nor2 @ 2 3and4
ANFB-S-GKL (13-B)
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29. Arrange the following permanent gnses|31.
present in the atmosphere in ascending order :
1.  Helium
2. Hydrogen
3. Neon
4.  Xenon
Select the answer using the code given below :
(a) 3,1,2,4
) 3.1,4,2
) 2,4,1,3
(d 24,81 -
30. The pattern of planetary winds largely
depends upon which of the following factors ?
1.  Latitudinal variation of atmospheric
heating
9 The distribution of continents and
OCEANS
3. | The rotation of earth
Which of the above is/are correct ?
(a) 1 only
(b) 1 and 2only
(¢) 2and 3 only
(@ 1,2and3
ANFB-S-GKL (15-8B)

Which of the following statements with
reference to Water Vapour in the atmosphere

igfare correct 7

1. It has a role to play in the stability and
instability in the air,

2. It acts like a blanket allowing the earth
to neither become too cold nor too hot.

Select the answer using the code given below :

{a) 1only

(b) 2only

{e) Both1and2
(d) Neither 1 nor 2

Consider the following pairs with reference

to world climate types and their

characteristics :
(Climate) (Characteristic)

I. Tropical wet Winter dry season
and dry

1. Mid-latitude : Mid-latitude semi-arid
steppe or dry

I11. Humid No dry season, warm
sub-tropical Fammar

Iv. Marine west Mo dry season, severely
coast cold summer

How many of the pairs given above is/are
correctly matched 7

(a) 1
- (b) 2
e} 4
d)y 4
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1. afifw i w gnft & it s Smm 16 em (a) FEEE
g ) (b) TERNE (FEHIEE)

2. gt it o e e (0 IO TR
v e T v i i e & e @ frmgam

o W At e s 56, 2011w ¥ ER W F PR §
3.yt 3w, nfifai i avowe = ) frm oft % wredl #§ wh wwEEn = vow w
it e o foredt & aw AR E T
(a) FErETReadE e (a) it II
(b) T I Sy (b) it I
(c) I =E & I 5wy () Boft IV
@ ZEweEg : (d) #ft VI

34. WA T g e W F wd # Prafefas i w97, @i apds vert e 3 B @

Form AifSre - - fr T e & 0

1. T TN, W % A, T SR R 1. VEE
At EImE A ST | 2. g

9. ed] FATE I T FHT T e T Foal A 3. @
Tl 3 4.

T i & AR e T A 13 R e 2 5 el e o

(a) #ad1 (a) 132

o ¥ (b) 133

(@) 1322 © 233

@ Adr,Ad2 @ 34
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33. Identify the climate type based on the given
below characteristics -

1.  The annual precipitation is low and is
around 15 em.

2.  The development of pronounced winter
anticyeloneg and their weakening in
summer sets in monsoon-like reversal of
wind in this region.

3. Polewards, summer temperatures are
lowe,

Select the answer from the options given

below :

(a) Subtropical steppe

(b) Humid sub-tropical climate

{c) Cold climate with dry winters

id) Tundraclimate

34. Consider the following statements with

India : ' '

1. Cotton textile industry has, over time,
spread to other paris of the country,

2  Raw cotton is not a weight-losing raw
material.

Which of the statements given above iafare

eorrect 7

(a) 1lonly

(b) 2only

(¢) Bothland2

{d) Neither 1 nor 2

ANFB-5-GKL

(17-B)

Indore city in Madhya Pradesh is situated in
which one of the following regions 7

(m) Bundelkhand

(b) Mahakoshal

(e} Malwa Plateau

(d) Nimar Region

Which among the following Classes of Towns
in India holds the highest percentage of Urban
Population as per the Census 20117

(a) ClassIl

() Class Il
{¢) ClassIV

(d) Class VI

The Golden Quadrilateral Highway does not
pass through which of the following cities ?
1. Bhubaneshwar

2.  Jaipur
3. Lucknow
4. Indore

Select the answer using the code given below :

(a) lond?2

(») land3
¢} 2and3

(d Jand4d
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mﬁmﬁﬂhﬁrtﬂﬁﬁﬁnﬁhﬂ

et o v i

1. de v w6 and & e e
4]

9. et weA, daare wre o qer v e 1

3. Hnfme owm, gt e % wanart @
fam

4 N T nirEl 2w R &)

s AR TA

(a) 132

) 133

) 233

) 334

Preffi § & A, w awpech R
AR 7

@ @

) HEEE

(c) TN
(d) TewEEeR (e

U T yEu deE (NIDM) ¥ anf d
fafafa ddFRmERd TR e g7

1. =4 2006 5 301 127 PR mEran

2, e weuw sfufan, 2005 F snfts, dem
I 39 T F gd F e wow A
Frmior & wrgTaar 6 1w Ho T g

et o g 2 1 WA IR A ;

(a) aer1

b) EE2

(©) 13f2eml

@ Far1,ade

41.

(18-8)

Rreiferfn i 4 wf w5 ww A R = Fm

am wift gafera T B 7

(a) sreafrprced ;P &  gren i

b) e o e i d

(c) wfirmm el ;T R I
: A T

@ pivfenfied : awmfessTd

A T &

1 7=z 2025 § Fras R FDI 1 &7 d

(sectoral cap) FI 74 it # ST 100 wfow=

7 T 2

(a) TR

(b) forega &

(e) TEIEW

(d) =it dm

. Frlt 3o dt Sife B (sticker price) B

T T T T I A W T S
i R AR 2

e TR (Shrinkflation)

R (Reflation)

FAEEE (Disinflation)
HTEHIT (DeNation)

(n)
(b)
(e}

(d)
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38. Consider the following statements with 41
reference to location of Major Ports in Indin : '
1. Deendayal Port is situated at the head
of Gulf of Khambhat.
2.  Cochin Port is situated at the head of
Vembanad Kayal,
3. Mormugao Port is situated at the
entrance of the Zuari estuary.,
4. Paradip Port is situated in the Godavari
delta.
Which of the statements given above are
correct ?
(a) land2
(b) land3
(¢) 2and3
(d) 3and4
42.
39. Which one among the following is nRef an
atmospheric natural disaster ¥
{a) Drought
(b) Hailstorm
{c) Frost ]
{d) Awvalanche
40. Which of the following statements with
reference to National Inmstitute of Disaster
Management (NIDM) isfare correct 7
1. It was constituted in the year 2006. 43
9 Under the Disaster Management Act, :
2005, the Institute has been entrusted
to assist in national level policy
formulation with reference to Disaster
Management.
Splect the answer using the code given below :
(a) 1lonly
() 2only
(e} Bothland2
(d) Neither 1 nor 2
ANFB-S-GKL (19-B)

Which one among the following pairs of type of

firm and foature is ol correctly matched ?

{a) Oligopoly firm Interdependence in
decision-making
{(b) Monopolistic Firm is a price setter
firm
(e} Monopoly firm Produces an efficient
level of output
{d) Perfectly Produces socially
competitive firm  optimum output

Union Budget 2025 increased the Sectoral cap
of FDI ta 100 per cent from 74 per cent for :

(a} Telecom Sector
{b) Power Sector

{(a) = Defence Sector
(d) Insurance Sector

The practice of reducing the size of a product

while maintaining its sticker price is called :

{n) Shrinkflation '
(b)  Reflation

{¢) Disinflation

(d) Deflation
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44, A TR T agee ol R W i
Faferfie st e frm i
1. o i dwe wnew (WIPO) #it Fure &

S dftaw FEmET o § A %
i) # =f 2015 2w =f 2024 F 9 A

A gER B R |

2. wgEaW iR fawm % e Frdl (funding)
&t s e Fref dm i deet g A
A s o wmigfeem R gE
ranfireRt i d Fm R

I F A w-AERA F ad e

FAe 1

A 2

1 31 2 5[

FAr 1, AE 2

(a)
(b)
(e}
(d)

. Yt Fafier @s (0E) ¥ @ § Foefefe

AT W farm Hifer
1. IE % war a9 1999 § TEmwerd § 6w
ft |

& mﬁﬁmaiﬂﬁﬁﬁﬁfﬁﬁm%ﬁq
nﬁmﬂr,srgﬁunaﬂtﬂmﬂnﬁlﬁﬁ'ﬂfm
o d

S & A e e e

(a) FAA1

(b) &I 2

.IH:J 1.3 2 gt

(d) Far1, T2

46,z woE ¥ Tere w0 = A i el

47.

(20-B)

sy e e frferfRar e we Frem i

LGP % sfrm ¥ w i s el s
2020 — 21 1 EF H 2023 ~ 24 7 TG ™y
B

o GDPH SfEE ¥ w9 § TEE T T
2020 — 21 F1 e 2023 - 24 # 7 Ty
B

amj?sﬁﬁaﬂq-mﬁﬂw-ﬂmuﬁmﬂ

(a) FE1

(b) e 2

@ 13f2dEt

@) Fdr,ad2

e # Bty 7% % 9 8 59 (DEH) & 91 #

frfrfima # G FA-a T wl TET & ?
(a) 77T 2019 ¥ DEH 1 umy faar mar ar |
(b) DEH ¥ 357 20 & Fad =ga foeil &

frfa wt agmr dr #
vy #t faEw = fifr 2028 7 DEH #it

vifEreRT 1 ErgrT |

DEH #1 wiag ity awmdes w2 =i 3
TYT-AA  (logistical) TUT FFHTSAHS
HETTAT WM 0 i = A e |

fim fm @ (TTD) ¥ 4w § frafafa &

FH-H R o ad R 7

1. TTT OF vt vee & Fomem 3ty ol wa
¥ frm ot A wEvw dET S
(life skill) firamm &)

2. TTT 0 3weft gea @ Foma 3w =yl v
¥ gE # SEaiyE s aeE S
foram

e form 7w 5 = WA I

(a) A1

(b) a2

(e) 13 2 gt

(d TdarL,TEe

(e)

(d)
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Consider the following statements about
innovation and research and development in
Indin :

1. India’s rank in Global Innovation Index

reported by World Intellectual Property
Organization (WIPO) has improved
significantly between 2015 and 2024,

2.  Funding of research and development is
sourced primarily from private sector
entities and is sectorally concentrated
in pharmaceuticals and information
technology.

Which of the statements given above isfare
correct 7

(a) 1lonly

(b) 2only

{c) Bothland2

(d) Neither 1 nor 2

Consider the following statements about the

Indian Institute of Entrepreneurship (IIE) :

1. The IIE was established in 1999 in
Guwahati.

2 The main aim of the institute is to
provide  training, research  and
consulting activities for small and micro
enterprises.

Which of the statements given above is/are

correct ?

(a) 1lonly

2 only

Both 1 and 2

()
(e)

(d) Neither 1 nor 2

46. Consider the

47.

(21-8B)

following statements about

Union Government’s Expenditure on revenue

nccount and effective capital expenditure :

1. Effective capital expenditure as
percentage of GDP has increased from
2020 - 21 to 2023 - 24.

2. Expenditure on revenue account as
percentage of GDP has increased from
2020 - 21 to 2023 - 24.

Which of the statements given above isfare

correct T

(a) 1only

(b) Z2only

(¢) Bothland?2
(d) Neither 1 nor2

Which one among the following statements
about the Districts as Export Hubs (DEH) in
India is nof correct 7 '

{a) DEH was launched in August 2019.

(b} The aim of DEH is to boost exports of
only selected districts of the country.
India’s Foreign Trade Policy 2023
reiterated the role of DEH.

DEH aims to promote exports by
providing financial inclusion and
facilitating logistical and infrastructural
support.

(@)

(d)

Which of the following statements about Tim

Tim Tare (TTT) is/are correct ?

1. TTT is a pioneering initiative that aims
at imparting essential life skills to
adolescent students across India.

2. TTT is a pioneering initiative that aims
at imparting vocational and techmnical
skills to students across India.

Select the answer using the code given below :

{(a) 1lonly

(b} 2only

(e} Bothland2

(d} Neither 1 nor 2
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s da S aERd T dE (@) 1,234
. ®) 1,23N3
Fae ;
3 : € 2 334
b) F=a2 (@ FEA13Ns
@ 13823 52, 1w gL & g i shoglE F A
(@ FALIA2 fw g 52 T WA R IO :
qei- g1
_ (el AT (FETTF AT

50. Fefafaa # @ #R-m <reer, miEd afemren o) 20%)

i 16 9 7F F Tl & demm REE W A FE g 1. s
ffdem % W W ¥ ofwew| B RRmgRA o, fsiie dem
{imuﬂmﬁm}*ﬂﬁﬁﬁmm C. S wilw 3,z i
g t? D. At AT 4. §ft oo =
(a) TR (U-WIN) e
A B C D
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! (b) 4 2 3 1
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Consider the following statements regarding
Annual Periodic Labour Force Survey (PLFS)
report 2023 — 24 by the National Statistical
Organization (NSO) :

1. The remains
dominant in employment, with its
share rising from about 44 per cent in
2017-18 to about 46 per cent in
2023 - 24.

agriculture  sector

2. The share of female workers in
agriculture has increased during the
period 2017 — 18 to 2023 — 24.

Which of the statements given above isfare

correct ?
{a) 1lonly
(b) 2only
¢/ Bothland2

Meither 1 nor 2

Whichnuufthahllnwingplatfarmsmarksl
transformative step in India’s immunization
efforts by digitizing vaccination records for
pregnant women and children up to 16 years ?

(a) U-WIN
) PM-ABHIM
eSanjeevani

FDSI

(e)

(d)

(23-B)

Consider the following statements about the
Bengal countryside at the time of the
Pormanent Settlement :

1.  The xamindars’ troops were disbanded.

2. Within the villages, the power of
Jotedars was more effective than that of
zamindars.

3. The East India Company made a rule
that the property of women would not be
taken over.

Which of the statements given above are
correct 7

(a) 1,2and4

(b) 1,2and3

ic) 2,3and4

{d) 1and3only

Match List-l with List-Jl and select the
answer using the code given below the Lists :

List-I List-II
{Journal / Newspaper (Founder/Editor/
{ Pamphlet) Author)
A. Kudi Arasu 1. Aurcbindo Ghosh
B. Kisan Bulletin 2. Pherozeshah
Mehta
C. Bombay Chronicle 3. Indulal Yagnik
D. Bhawani Mandir 4. E.V. Ramaswami
Maicker
Code :
A B C D
(a) 4 3 2 1
by 4 2 3 1
(e 1 3 2 4
dy 1 2 3 4
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@ (d) 4
ANFB-S-GK| (24-B)

S :

(% Scanned with OKEN Scanner



e —

ANFB-S-GKL

53. Which of the following statements about the

Ghadar Movement is/are correct 7

1.  The Ghadar Movement began in 1913 in
San Francisco.

2 The movement was founded by
Sohan Singh Bhakna.

3. The Ghadar Movement took its name
from the weekly Ghadar brought out in
several Indian languages.

Select the answer using the code given below :
{a) 1only

(b) Zonly

(¢} 2and3only

d 1,2and3

Chronologically arrange the formation of the
following political associations, beginning from
the earliest :

1.  Poona Sarvajanik Sabha

2. Indian Association

3. Madras Mahajan Sabha

4 Bombay Presidency Association

Select the answer using the code given below :

2 1,2,34
m 4,321
e 1,243
d) 3,412

Which one of the following periods has
provided the evidence of a ploughed field at
Kalibangan in Rajasthan ?

(a) Early Harappan

(b) Mature Harappan

(¢) Late Harappan

(d) Chalcolithic

(256-8B)

Consider the following events :
1.  Muslim League Resolution for Pakistan
Gandhi-Irwin Pact

Dandi March

- BB

Second Round Table Conference

Which one of the following is the correct
chronological order of the given events
(earliest to latest) ?

(ay 2,8,1,4
b 3,241
¢ 3421
d 2341
Consider the following pairs :
(Historical Place) rwet_t-km'mn for)
I. Girnar - . Sudarshana Lake
II. Chaolistan - Terracotta model of
Flough
1. Mant - Headless standing
{near Mathura) figure of Kanishka
IV. Sannati . Asokan Pillar Edict
in Odisha

How many pairs given above isfare correctly
matched ? '

(a) 1
by 2
) 3
d 4
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e T e e
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T (political innevation) #t |
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4 T W 9 W e I
#r wii ¥ Fuifle 29 (stipulated
contingent) ¥ Ta-TEE ¥ fv st vw T
S|

¢ 4l ¥ wmEE & e vew & a9
fit o i 0t it swqufa i o)

59. wirwlE wlaa “ga 75 7eH 78 7 wia w7
#7" (Like a man she fought, she was the Rani
of Jhansi) & gn forgit 7 7

(a) Wl Hl
(b) TEE FAE A
(c) 3 Miaw
(d) =TT 3P

60. TS | et w1 o fam i
1. I tffas = wm fafie =9 & g o

(Buddhism) # #32 &1

2. vew fom Femw odift wm F 9
(dressed stone) 3 g & vt € & =wwn
Tl

G A ARG T w7

(a) Fam1

b) a2

() 13 23

@ F3y,3d2

M'.F'H‘E'GKL

(b}

(c)

d)

(26-8)

v ferfer i @ foves T i et o ol e
g2

(a) wiuww
(b) w=Tw

(c) aftrerTg
(d) e

mwm%ﬁﬁﬁmﬁm

foram Fifin -
¥ 5], wual si srooen = ffis fEn

i

2. FAFE I 9 TEET WA ¥4 # a5
=1 3gam g

FF A mAR wA
(a) FE1

b A2

() 13 2aF

(d) A1, TH2

1.

“ffed gor e T S § sae fed g fen
a, ot i ZeRl W SemEnl w1 faw e

T ?

(a) ey e

(b) TR YHEA T
() Sl

(d) wwmHl R

|
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8. With reference to the *Amara-Nayaka system”,

which one of the following statements is not

correct 7
(a) It was a major political innovation of the
Vijayanagara Empire.

(b) They were military commanders, who
were given territorics to govern and
collect taxes and other dues from

peasants, craftspersons and traders in
the area.

(c) They retained part of the revenue for
personal use and to maintain a
stipulated contingent of horses and
elephants.

(d) mmmmﬂmmmm
of revenue for the maintenance of

temples.
Mpnpularpnem'ﬂnﬂb!udimmﬂuniwﬂh
to Jhansi wali rani thi” (Like a man she
fought, she was the Rani of Jhansi) was
written by :

(a) Mahadevi Varma

(b) Subhadra Kumari Chauhan

{¢) Amrita Pritam

(d) Balamani Amma

Consider the following statements about

Ellora :

1. This art-historical gite is associated
ﬂdusivalywithﬂuddhimn.

2 m;{ﬂﬂmtemphntlﬂﬂmhuhnﬂn
built of dressed stone and kiln fired
bricks.

Which of the statements given above isfare

correct 7

{a) 1only

(k) 2only

{e) Bﬂl.hlllﬂdﬂ

(d) Neither 1 nor 2

6l. In which one of the following states are the

Guntupalle Buddhist Caves located ?
(n) Andhra Pradesh

(b) Karnataka

(¢) Tamil Nadu

(d) Kerala

Consider the following statements about

Ajanta Cave paintings :

1. The paintings depict yakshas,
gandharvas and apsaras.

2. The artists have used the technique of
pcuﬁﬂinﬂ‘mu]ﬁplemﬁ?ﬂl'+

Whithu&'themmmentngivenmﬂm
correct 7

(a) 1lonly

(b) 2only

() Bothland2
(d) Neither 1 nor2

“Nee! Darpan™, a play that depicted the
atrocities on the indigo planters, was
translated into English by :

{(a) Dinabandhu Mitra
(b) Michael Madhusudan Dutta
{¢) James Long

{(d) James C. Scott

ANFB-S-GKL (&7-8)
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#ifem -
1 W W ¥ IW ww kA ki A b?
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w0k I =g v o e fa
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i i P wE I
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© 132dE 66, vemw s, < el wh & 07 7 A wm
) TFar,Ide st & vy s s 8, WRa & R 0= A
famd?

65. Fi=fafimm 3 3 fes 7o § o34 & o= i -
ot &t 3% o, ot @t 5w o of St s (a) WEWE

Erir =1 fafia femmn 2

(a) FrEFIAL o, 2. -
®) T (o) afiey
(c) HHIES d) U
(d) 2=t =St

69. wWiHFH T=0 I FET A9E T I W w=

66. T WRA ¥ weW wiea & wed #, e e
Freaffiaa i w R i - et
1.ﬁﬁmmmfiqmgmmﬁﬁﬂ (a) TSR SAWE S

3 e e e woe da <l =2 (b) ITEEE FiSEA

v Shafrfirs g fai Fasan o e

i afead &t S SR e | (© R S sl

g (d) WA BIS1 AR
2. anEr iR 3 awdr A § i g R -

TR EEITiRa g0, wwa ¥ e & G0l §, S Ropehi)” W

3. Wl 7rg 1 wigen wafirew £ oir =3 et st 2

#q wiea % forg wfafifimee @1 g fmm
s i P o R 2 @ 9
(@ 1 ®) fows
® 2
3 () ¥
(d) wrd (d) zf!mmﬁt[mmmﬁa
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g4. With reference to the Revolt of 1857, consider
the following statoments -

1.  Shah Mal mobilised the people of Barnut
region of Uttar Pradesh and eaplured
the bungalow of an Englishman and
converted it into a “hall of justice”,

2. Gonoo was a Kol leader of the
Singhbhum region of Chotanagpur.

Which of the statements given above isfare

correct 7

{(a) 1lonly

(b) 2only

(¢} Bothland?2

(dy Neither 1 nor 2

65. Which of the following books portrays ti
images of the Mother Goddess : “Mother as
she was”, “Mother as she is” and “Mother as

she will be” 7

(a) Durgeshnandini

(b) Kapalkundala

(d) Devi Chaudhurani

g6. With reference to the women achievers in
modern India, consider the following
statements :

1  Pandita Ramabai published a book “A
Comparison Between Women and Men”™
where she protested against the colonial
view that men enjoyed all the rights,
opportunities and benefits of change.

9 Tarabai Shinde worked in the field of
medicine to reduce child mortality in

3. Sarojini Naidu led a delegation to
London to demand for female franchise.

Hnwmnyafﬂwmmmumnahwa

isfare correct 7

(a) 1

by 2

© 3

(d) None

ANFB-S-GKL

87,

(20-B)

The Sanikatta Salt Works, known for Salt
Satyngraha, is located in :

Gujarnt
Tamil Nadu

(m)
(b)
{¢) Kerala

(d) Karnataka

The Kalaram temple, known for temple entry
movements in the early twentieth century, is
located in which state of India ?

(a)
(b)
(c)
(d)
Matangini Hazra and Lakshman Naik
sacrificed their lives in :

Bardoli Satyagraha

Non-Cooperation Movement

Civil Disobedience Movement

(a)
{b)
[{3]

{d) Quit India Movement

With reference to the history of India, the

word “kopeki” is associated with :
{a) Clothes
(b) Coins

{¢) Land measuremont

{d) A type of sport in South India
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71 Frafafer § ¥ W ag W gk ke | 75, ity 3% forw Preforftr § W W1 0 6

(molten compound) % Rz wn =nws L

mﬂﬁmﬁnhmt?@ () e e ] A S e T &
ara 120° i Awd F9 (bond angle) TE

g fiyreyy e R B0

iy (b) farriiga et (delocalized electrons)

ow 7 (plane) ¥ F 3 i FHH T

b i FATSE (cloud) T &

72. Pefafas @ @ #9499 (Graphene) = © C—C sl 6 darf wher AR 7w ¥

T AT R ? o 7o (intermediate) B11 & 1
(@) 3 I3ft 7% FO W Toenm Tend (d) Eﬂaiﬂm\{immem}'il
T 76. BofafaidgRmadeA FE T 22
(b) T T Yo T & T 8
) Fﬁﬂmmtl (a) ':HWJ
@ W wE fagy Solw  slees s TRl
(wide band-gap semiconductor) ¥ | fe)-: M
(@ (NHp,CO
73. itT W # T (degrade) T 79T B4
59 : 77. FefaiEs 3 w9 s wmeiee aaE T
(a) 37 vt STt S AR ¥FAT 9 T (transition metal element) 31
s e i s o

(b) 374 VoS HEEarH AT AT E |
(e) T wae wifcas AT ER )
(d) T TeFTE sl I EA R (> 500°0) 10

(a) (n-2)d'10ps?
() (n=-2) -1 _1)4%1 pg?

(¢} ns?®np®ndl-10

74. Fefafas 7 8 - FwEies v 1 a0 (d) (n-1)d*-10ng0-2
i Ak 18, ol SISO 5% (variable oxidation
numbers) e o s § 0
(a) CsH,OH
(a) wiftam
) CsHg | o
(¢) C,HzCOOH ©
(d CH;COCH, (d) wfiferm
ke (30-8)
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71.  Which one of the following metals is widely 6. Which one of the following statements is not

extracted by the electrolysis of its molten correct for benzene 7

compound ? (n) Each earbon atom forms sigma bonds

@ C with two other carbon atems with a

il bond angle of 120°,

(b)  Au (b} Delocalized  electrons  ereate @
symmetrical ‘cloud’ of electrons ahove

(@)  Sn and below the plane,

(d) Na ¢ The length of C-C bonds is
intermediate between single and double

honds.

72. Which one of the following is not a property of
(d) It has six isomers.

‘graphene’ 7 .
(a) Ttis the thinnest material known so far. |76. Which one of the following is mot a nitrogen
® Itisslm forkilaee !
15 ost completely transparent.
(a) (NHg,80,
{e) It is highly conducting.
4 (b) NH,NO,
(d) Itis a wide band-gap semiconductor. g
73, Why do plastics not degrade easily ? (d) (NHg,CO
(a) They have strong ionic bonds. 77. Which one of the following general electronic
. configurations  correctly  represent a
(b) They have strong covalent honds. PR
{¢) 'They have strong metallic bonds. @) (n—2)dl-10 ng?
(d) They have very high melting points B (-2 @ - 1) d* ns?
B -3 500°C). {c) I:I..EE I'IPE nd]—lﬂ'

74, Which one of the following is the eorrect (@ (n-1)d"%ns"2

chemical formula of earboxylic acid 78. Variable oxidation numbers are possible for :
LU (@) Sodium
®) Gt ®) Caleium
(©) CzHzCOOH (¢) Iron
(d)y CHZCOCH; {(d)  Lithium
ANFB-S-GKL (31-8)
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79. Frafafs @ @ = e wd gu ol S viv ¥
27
(a) i
(b) TSR HEEEE
(c) UEifeslin
(d) FEH SIS

80. TEERE wfafwE
K80, + BaCl, — 2KCl+BaSOyl

(=it (seta) (wet) (@)
ﬁmﬂm_!-’?

(@) HrTe bt
() e srffiem
(c) Tertem stfafien 85.

(d) TR sl

fort s e 35 ore Freaferfiam o & .4l o
=g ?

(a) & — T — T s F s A — AN

(b) HT — T — Tl — T — M7 > R

(c) T — FT — TT — Fel — Fd - A
(d) HT — o — T T — A T

81.

g2, frefaflaa o & agefa @ wEOFE-AE? |86,
(a) T

(b) T

@
(d) &=

ANFB-S-GKL (32-B)

%17
{(n)
(b)
{c)
(d)

83. ABO T WE WAL 3 & ST SRR Th Sy

AO, BO, A 3B
A, B, AB #iT O

yesferfir 3 4 i, ST 3 G S A A

L. d

(a) T (M) T

(b) T

(¢) TraTErR-EET

(d) AT

frefferfigg # ¥ wrE Wierss (human brain) F

ffir ymEA-AE?

(a) VT (Forefront)  Wiash,  WFE
(Standard) wftass 3099 (Hind) #itass

(b) W (Fore) Wik, wWitgw (Median)
ufiass it @ (Rear) wiiass

(e

(d)

#T (Fore) ﬁﬁﬁﬁ,. ey (Mid) nftass ik
q¥e (Hind) AT

TEMHT (Precursor) ®ftash, @14 (Mean)
wftes 3T 799 (Hind) Witawh

A % il G (39T el = R 2

(a)
(b)
(e}
(d}

e vk
HifEqH BT Faie
Hifeam FregiaEe
T
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Which i
79. one of the following gas smolls like o

83. What are the four human blood types in ABO

rotten egg ?
i e blood group Lyping 7
(b  Hydrogen sulphide (a) AO,BO,AandB
(e} Acetylene () A,B,ABandO
(d) Sulphur dioxide (¢) A AB,BOandO
§0. The chemical (d AB,AO,Band O
reaction
1‘52504+Eaﬂl, —— 2KCl+BaSO, | 84. Which one of the following is not a part of the
il (@q.)  (solid) male reproductive system in human beings ?
is an example of :
)  Prostate gland
(a) Addition reaction * ’
(b) Displacement reaction -
{c) Decomposition reaction A one
@ Deilile dlsilicimssdt i {d) Serotum
81. Whid‘““‘!ﬂmlihﬂfnllnwinsisthemm“' Which of the following are the different parts
scheme followed for classification of animals ? of a human brain ?
{a) Class — Phylum — Order = Genus — {a) Forefront brain, Siandard brain and
Family — Species Hind brain
(b) Phylum — Class — Family — Genus — (b) Fore brain, Median brain and Rear
Order — Species brai
© grde‘r _::t];::su: PR = Fimily. = (¢) Fore brain, Mid brain and Hind brain
(d) Phylum — Class — Order — Family — (d)  Precursor brain, Mean brain and Hind
Genus — Species besin
82. Which one of the following is an example of 86. Tooth enamel of humans is made up of :
airborne disease 7 (@) Calcium phosphate
Tl losi
@ i (b) Sodium hydrogen carbonate
{b) Malaria
(e) Sodium hydroxide
(e) Dengue
{d) Lactic ncid
(d) Cholera
ANFB-S-GKL (33-8B)
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87. WFE % ¥ stnfes
et S 9T A el 3 mmmmﬁmﬁnﬁﬂﬂlwm
el wt f, Pt Wk ?
() o Sie R
@ dfim @ Wiz g
‘ @ Y F
(e TTETEH
e WHF@metlﬂmﬂ@rl
) AR (speed) & 2 37 Ifl 30 v, I A=
mtrmﬂaﬂmmmt?
88, Pt § A @A sl Wi § 2 W 2
2
(a) T=TH I EGEET ® 2vyve
R i
© (vI-F-\FE]L
(¢) oTeE W 2vyvy
(d) TEEE R AT o 2 '
93, et o 1 vt wa i wa € 9

(a) 30T IT T AT 1

go. Fadt MAfERs Biftm § fafafea i & sa ) FEWRIALI LI
(¢) FAWAZTA-A AL

FiE A T EFAE 7
i e () =a T iz we i g
5 94, =9 OF o W el Ov & St gOTER
b) fift=a 7= (Definitive nucleus) wrar &, v avt gw 38 o R e i
(c) TZAMM (Ribosomes) @ e
) " b)) TEEE
(d) et F19 (Golgi bodies) © AR
' (d) TP oA A W R a2
90. 7% pHuF e e ST 8 : o5. W S ‘A", x Rz # 500 J W & 3l
() TaTei e B, 20 fore § 1000 J = =@ & 1 3R AT T
wmifta ofe P, & 3kt ‘B’ g0 wmifa ot P, #
b et e TP, = 2p, A FARRRATIE?
(¢) wetta faema (@) 10
(b) &
(d) egman e (¢) 20
(d) 25
ANFB-S-GKL (34-8B)
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The inner lining of the human small intestine
has numerous finger-like projections called :

(a) Sphincter

b) Villi

(e) Maltose and lactose

(d) Ribose and xylose

Which one of the following organelles can be
seen in a prokaryotic cell ?

(a) Mitochondria
(s) Definitive nucleus
Ribosomes

s olai bodi

(c)

(d)

A solution with a pH value less than 7 is a/an :

{a) Neutral solution

(b) Basic solution
() Acidic solution

(d)  Hypotonic solution

1.

(35-8B)

Tho rule to determine the direction ."’ a
current indueed in a coil due to its rotation In

n magnolie field is :
{n) Right-Hand Thumb Rule.

(b) Fleming's Left-Hand Rule.
{a) Fleming's Right-Hand Rule.
{d) Hund's Rule.

A car travels a total distance L. It travels half
the distance with speed v, and the other
half with speed v,. The average speed of the
caris:

¥, +V

i:a} l.ﬂ 2

2vyVg
v, + Vs

()

(v, + vy)L
2v vy
d ©

The linear momentum of a particle is
conserved if :

{a) the net force on it is maximum.

{s) the net force on it is zero.

(¢} the net torque on it is zero.

{d) the net work done on it is maximum.
When a stone tied to a string is whirled in a
circle, the work done on it by the string :

(a) is positive.

(b) is negative.

(¢} is zero.

{d) dependson the mass of the stone.

Assume ‘A’ does 500 J of work in ‘X’ minutes
and ‘B’ does 1000 J of work in 20 minutes. If
the power delivered by ‘A’ is P, and B is P,
and P; = 2P, then ', in minutes is :

(e}

(a) 10
& b5

(e) 20
(dy 25
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97.

98.

100.

330 my/s T ST (speed) T THT T A wif @i
T 01 WHE H 20 frEw (erost) 3t 20 W
(trough) o971 T & | wfy i windwi §

1-1 mi
8 m
(e} 1-65m

(a)
(b}

d 22m

foeft x-Fomror = Fovdiferey P s we £

(a) TodtSefm T T

(b) ot g 5707 |

(o) T et & EH1 H AR |

(d) 7t Fe-a T, A & S
fedt @ @i g (astronomical
telescope) ¥, TN Fy Y SN (objective)

it A= (eyepiece) FHAL
(a) ﬁmﬁmﬂﬁmaﬁqﬁmﬂma‘mh

(h) qmmﬁ”rﬁmaﬂrﬁmmﬁr
(e) wmmmmmmm
(d) ﬁmﬁlﬁlﬁﬁmﬂhqﬁm%ﬂ#l

ﬁﬁa&%ﬂnﬁmﬁfmmﬂmgmmm%?
(a) ST T A

(b) T T A

() T HA

() T

ar2 WE FfF (Van de Graaff Generator) FT
T AT 7

(a) Tl AN
(b) e &

101,

(c) Too Siwean fave gearad! G0
(d) =9 dear = RE am

102.

ﬁqmmam@amaﬁmﬁaﬁﬁM:

1. fare v o€ TG
mﬂnmﬁmﬁ#ﬂamﬁmﬁm

forafe 1 -mﬁﬁﬁmwﬂcﬁmwﬂm
Post System)’ an d fefafem 5 9 FhiA-HI

s 2 7

(a) Fareft ferft et & forg 78 ST T 8

o 8t o el 20T gA fot

wF fafeam ¥ 0 & =it wlafafu

fraffm e ad &

(c) mﬁﬁm#mmfﬂii,m
& fore 8

(d) i Wiét (2e) I W WAt o W
ﬁmgwmﬁﬁmﬂmﬂﬂimﬁaﬁ?

(b)

(36-B)

ANFB-5-GKL
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100,

ANFB-5-GKL

A sound wave travelling at 4 &

prﬂdlltﬂﬂ 20 crestg and E;Tad of 330 mfs
o1 second. The ““]Bngﬂ'; o uma Hﬂu in
wave is : sound

11 m
33 m
1'65 m
22m

(a)
(b
(e}
(d)

An X-ray can be deflected :

(a) by a magnetic field.

(k) by an electric field.

() by both electric and magnetic field.

(d) neither by electric field nor by magnetic
field.

In a simple astronomical telescope, the
objective and the eyepiece used respectively,
are :

a convergent lens and a divergent lens.
a divergent lens and a divergent lens.

a divergent lens and a convergent lens.

a convergent lens and a convergent lens.

(a)
(b)
(c)
(d)

Twinkling of a star is due to
(a) Interference of light

(b) Refraction of light

(¢) Polarization of light
(d) Diffraction of light

Van de Graaff generator generates
(a) electrostatic charge
(b) magnetic field

(¢) high voltage low alternating current
@ high voltage low direct current

(37~

101. Consider the following international events :

102.

B)

1. Signing of the Simla Agreement

2. Agra Summit between India and Pakistan

Signing of the SAARC Charter at the First
SAARC Summit

4, India's first nuclear test

Which one of the following is the correct
chronological order of the above events 7

{a) 1,3,4,2

b)) 4,1,32
e 1,432
d 41,238

Which one of the following features is correct
about the TFirst Past the Post System’ of
election ?

A candidate who wins may not get the
majority of votes

(a)

More than one representative may be
elected from one constituency

(b)

Voters vote for the party, not the
candidate

(e}

Every party gets seats in the legislature
in proportion to percentage of votes that

it gota

(d)
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103, -1 b i1 @ gitfen EiRng o gl &

o e w2 6 W e e g

(m)
(b)
(c)

D
2
2
4
(d) 4

B s
W = o =
A e

104. WRA ¥ #hwE & wgen Oefafes & @

sHmAERA TR T

L G ¥ 1063 @9 ¥ g ae i
T=Te § wieenet & fow e @@ F

aAvE ¥ forg g femr mn 21

o wedl # fuw e v fraw oftel 4
afeert & fore T (di2h) F A & fow

FETEN

s aradi # wRemsd & R T e ¥

s ¥ fe Ivaa €1
14 fog 1 2 0 S R I AT
(@) 13W2
(b) 233
(c) F@A1
d) *=ae3

ANFB-S-GKL

(38-B)

106.

107.

106. mtmﬂmﬂﬂ@"*"““““‘*

mwmﬁﬂhhﬂﬁﬂmmﬁ"'m

w7

(a) T I
® s LELk

() b 1n SR

(dy =TT mﬂiﬁtﬁl‘
e 3 s B st & dod i Prefafe 58
AT E?

L qufe 52 ENEEEr TS § e A

.4
o mmr YiEE EEAT IS @ UEG AR

3. Wmm*mtmmtl
s fow 70 5 0 A IO

(a) FE=13N2

(b) FaE2 ¥R

(¢) FaT13M3

@ 1,2¥R3

s i wE § wEE % w Pt 4 @

Cock: Eooog: i & :

(a) vififreg § et wft & o o wam
T g |

by Tt wifreEm e § = Aad w1 aEE
fyfe i = fee R w g s

© T w1 e s e w e
@ T R TR

(@ it frr s faftre ATt 2 s ®
et B ST A R |
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104.

Match List-l with List-Il and soloct tne
““"’“““““”"““"“ﬁ*mhnhwum“m:
List-I

List-I1
(Special provision in the (State)
Constitution of India)
A. Article 371 1. Nagaland
B. Article 371-A 2. Gujarat
C. Article 371-B i
D. Article 371-1 i
Code :
A B C D
(a) 4 1 3 g
b 4 3 1 2
i 2 1 3 4
d 2 3 1 4

Which of the following statements as per the

Constitution of India is/are correct ?

1 Provision for the reservation of seats for
women in the Lok Sabha and the Rajya
Sabha has been made vide 106
Amendment of the Constitution.

9 There are provisions for the reservation
of seats for women in the Legislative

Assemblies and Legislative Councils of
the States.

3. There are provisions for the reservation
of seats for women in Panchayats.

Select the answer using the code given below :

land 2
2 and 3

(a)
(W)
(e)
(d)

1 only

3 only

(39-

ANFB.S-GKL

106. Which one among the following pairs of

106.

107.

B)

Subjocts and Lists  under the Seventh
Schodule of the Constitution of India is mof

correctly matched ?

(n) Forest : Concurrent List
(b) Taxeson land State List
and building
(¢) Insurance Union List
(dy Census : Concurrent List

Which of the following statements with
reference to the Preamble to the Constitution
of India are correct 7

1. ﬂmwnnl'smﬂnr'mmubeﬁmethewnrd

9  The word justice’ comes before the word
“equality”

3. The word ‘fraternity’ comes after the
word Tliberty’.

Selmthemmingthtm&givenhﬂnw -

(a) 1and2only

(b} 2and3only

(&) 1 and3only

dd 1,2and3

Which one of the following statements
about ‘Motions’ in the Parliament of India is
correct 7

{a) A Motion of No-Confidence can be
admissible against an individual
minister in the Council of Ministers.

A No-Confidence Motion must set out
grounds on which it is based.

Rajya Sabha is not amm to
entertain a motion of No-Confidence.

A Censure Motion need not be based on

specific grounds or charges.

(b)

(c)

(d)
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108, W & wRE W s v Rrafidin 4 4 e
g A ifia g o

(o) Y B il ¥ et o Pgfs

by T

() EVEEAT ST

(d) U1 BUERT F FHHN (functioning) ¥ B
EVE L

109. iz e Fefafae 4 & fm 2 = s w3
T s Higi = e

(a) SETEER AR

®) FENER i i

(e) W 3 TiEEE

(d) SETHEE A

110. Fr=fefiss armias S W R i

1. v wEEA

2, I BramE

3. e T

I wmifvs AReA § AT T W} W
m@nﬁﬁmm@mi
FFRAR?
(a 21,3
M 81,2

) 8§21

vt gt 5w PR A g

wh ke
(a) WE VI e snfrma ﬂhrih3‘hl1ﬂlzg!ia

ol |
ﬂﬂﬂ!ﬂmtmEMql
e e e o R TR ey,

gl
ur mﬂ#ﬂ%*ﬂ!ﬂ%u.

i1l.

(b)
{c)

(d)
Ereffgn § @ WAl 0 TR F dfnem
mwﬁ@nmt?

(a) gl
(b) THED

112,

) it

113. Pt & el ol wid 9 afim s
W T o G 7
R
2. AW
3. w0
i W
it fim T v W I
(a) FEe1,23R3
b FT[a3sR4
(@) Faa1¥hz
@ 1,2,33M4

St & & A7 e ) s W T
o 2

() el WY

(b) H&a FIAr
(c) Toror et dfem

114.

d 1,23

(40-

(d) WM

B)

el
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111. Which one of the following statements about

Part IV-A of zae b
108. s of the Constitution of Indig deals
with which one of the following areas ?
s
I Ppointment of Members to Public
Service Commissions
(b) Fundamental Duties
(¢} Functions of Public Sarvice
Commissions
(d) Provisions for the functioning of the
State Governments
09. The ‘Durand Line" i T e
1 an ing’ i5 a border demarcation
that separates which of the following
countries 7
{a) Afghanistan and Iran
(b) Afghanistan and Pakistan
ic) India and Pakistan 113.
{d) Afghanistan and China
110. Consider the following social movements :
1.  Chipko Movement
2. . Bardoli Satyagraha
3.  Satyashodhak Samaj
Which one of the following is the correct
chronological order (starting with the carliest) 114.
of the launch of the above social movements '
{n} 2: 1! 3
(b 3,12
@ 8,21
d 1,23
ANFB-S-GKL Catmsl

the Tashkent Agreement is correct b

It was an agreement batween India and

(a)
the Soviet Union.

(b) It was an agreement between India and
Pakistan.

(¢) It was an agreement that led to the

formation of Bangladesh.
It was an agreement between India and

Mongolia.

(d}

Which ameng the following is nof a language
listed in the Eighth Schedule of the

Constitution of India ?
{a) Manipuri

(b) Gondi

{¢) Nepali

{d} Dogri

Which of the following can be considered a
part of the ancient Indian Smriti Literature 7
1. Puranas

2. Ramayana

3. Kalpa-Sutra

4. Vedas :
Select the answer using the code given below :
fa) 1,2and3only

(b) 3 and 4 only

i) 1and2only

(d) 1,2,3and4

Who among the following was India’s first
Woman Chief Minister 7

{a} Sarcjini Naidu

(b} Sucheta Kripalani

(¢} Vijaya Lakshmi Pandit
(d} Hansa Mehta
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115, fr=fofem i & SR d wam e 080
1.t TErErE) v v i b d ad
e =i o )
2. A & v a3 R TR
SR 1 A fe )

= fw e 2 9 i T
(a) ¥l

(b 2

e) 1322

d) FA1,Td2

116. Fofafam 4 @ dmm 3w =H sefaf
(location) FF FHA/FHA Tw dt Ffm
bEo
1. Wi 3= WEEE e - Bwen
2. vdAdE e aEE - o et
3. TwwEERatEmdem o o
e w2 1 v I g
(a) 132
by 233
(e) a1
(d) Fad2

117, Fr=fafa s w faaw $ifa
1. % fan (Erok Sim) ¥&¥4: WU WM
2RI §ATC A arell den 2 | :
BT (Sangken) SEEH Y29 § 5T 9H
T O A e 2 |
I i § FR-AvEE-A e w0
(a) #Ed1
(b) FA2
(¢ 132
(d Tdr1, 72

2

ANFB-5-GKL

(42-

118, el maﬂ{ﬂﬂiﬂtmmﬂﬂﬁhm
§7

{n)

Wi

arets
wfim

sfieieT

(b)
(c)
(d)

119. v o uUen #r fdm ot @ o=
(Special Category Status) WeH #1 & R
fofafer f s i Rt e § 7

et o wfEm @

it 3it st feere
w7 &

4. TR FEEET F Ag 951 fewn
=il T2 T 2 e R I g
(a) FA13R2

b F=a3#N4

€ Faw1, 234

1,234

1.
2

3.

120. fr=fefaa 7 & s dmfre o = dems 39
22
(a) HHEEAEEE
(b) FEATETE IoE
() idtene o
(d) iR i

B)
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115.

116.

117,

ANFB-S-GKL

Which of the following statements is/are
correct ?

1. C.Rajagopalachari was the
recipient of the Bharat Ratna.

2. Pandit Deen Dayal Upadhyaya initinted
the concept of ‘Integral Humanism”,

Select the answer using the code given below :

{a) 1lonly

(b) Zonly

(¢} Bothland2

(d) Neither 1 nor 2

Which of the following pairs of Institute and

their location is/are correctly matched ?

1. Indian Institute of Advanced : Shimla
Study

2. Indian Institue of Public
Administration

3. Sushma Swaraj Institute of : Nainital
Foreign Service

Select the answer using the code given below :

(a) land2 .

%) 2and3

(c) 1omly

(d) Zonly

firat

: New Delhi

Consider the following statements :

1. Erck Sim is a festival mainly celebrated by
the Santhal community.

2, Sangken is a Buddhist festival celebrated
in Arunachal Pradesh.

Which of the statements given above is/are

correct 7

(a) 1only

(b) 2only

(¢) Bothland2

{d) Neither 1 nor 2

119.

120.

(43-B)

‘Mnitreo' in n Joint Military Exercise between
Tnuelin sl 2

(n) Hoanglodesh

{b) ‘Thailand

W

(¢} Malaysia
(d) Sri Lanka

Which of the following criteria are specified for

granting Special Category Status to States in

India ?

1.  Hilly and difficult terrain

2.  Economic and infrastructural
backwardness

3.  Strategic coastal zone

4.  Sizeable share of tribal population

Select the answer using the code given below :

{a) 1and2only

(b) 3and4only

(& 1,2and4only

(d 1,2,3and4

Who among the following is the founder of the
Congress Socialist Party ?

{a) Acharya Narendra Dev

(b) Jawaharlal Nehru

(e) Motilal Nehru

(d) Asoka Mehta

A
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